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3 Find Thevenin’s equivalent circuit across the terminal A-B of the network shown in | [10] | CO3 | L[4
,[fig3.
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Verify Reciprocity theorem for the circuit shown in fig4.
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Show that resonant frequency is the geometric mean of two half power frequencies of
a series resonant circuit.

'A RLC series circuit has R=1Q, L=100mH, C=10uF. If a voltage of 100V is applied
across the circuit, determine resonant frequency, Q-factor, half power frequencies.

Derive the expression for parallel resonance when RL is parallel to RC. Also show
that the circuit will resonate at all frequencies if R =Rc=V(L/C).

A

Determine Ry and R that causes the circuit to be resonating at all frequencies shown
in fig6.

[6]

[10]

2] o —
b

- CO4

CO2 |

(O8]

CcO2

o

g .




